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QUESTION 1

Which two SQL commands can be used to invoke a stored procedure? (Choose two.) 

A. RUN function 

B. CALL function 

C. CALL procedure 

D. EXECUTE function 

E. EXECUTE procedure 

Correct Answer: DE 

 

QUESTION 2

How does an administrator allocate a new dbspace from the storagepool? 

A. Use the SQL Admin API 

B. Use the oninit command 

C. Use the onadmin command 

D. Use the onspaces command. 

Correct Answer: A 

 

QUESTION 3

Which of the following is required for a cold restore? 

A. A restore that includes the rootdbs 

B. A restore that includes temp dbspaces 

C. A restore that includes only non-critical dbspaces. 

D. A restore that includes multiple level to be restored. 

Correct Answer: A 

 

QUESTION 4

You want to use sqlhosts file /newlocation/newsqlhosts. Which of the following is true? 

A. sqlhosts file must be called sqlhosts 
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B. set INFORMIXSQLHOSTS variable to /newlocation/sqlhosts 

C. set INFORMIXSQLHOSTS variable to /newlocation/newsqlhosts 

D. sqlhosts file must be defined under $INFORMIXDIR/etc/ directory 

Correct Answer: C 

 

QUESTION 5

What is the default isolation level on a database with unbuffered logging? 

A. Dirty Read 

B. Cursor Stability 

C. Committed Read 

D. Repeatable Read 

Correct Answer: C 

 

QUESTION 6

Which document provides details on preparing an operating system to run Informix? 

A. Machine Notes 

B. System User\\'s Guide 

C. Operating System Guide 

D. Informix Migration Guide 

Correct Answer: A 

 

QUESTION 7

Which utility can be used to relocate the physical log to a new dbspace? 

A. onlog 

B. ontape 

C. onspaces 

D. onparams 

Correct Answer: D 
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QUESTION 8

There are two open sessions (session A and session B) that are updating the same tables. Session B is trying to read
all rows in the table and is continuously receiving the error "-143 ISAM error: deadlock detected". Which action in
session B would allow it to read all of the rows? 

A. commit work; 

B. set isolation to dirty read; 

C. set lock mode to not wait; 

D. set lock mode to nolocking; 

Correct Answer: B 

 

QUESTION 9

What are the three major steps in implementing Label-Based Access Control (LBAC) in an instance environment?
(Choose three.) 

A. Define a security policy with access rules. 

B. Assign security labels to users and data elements 

C. Create security label definitions using set, tree, and/or array components 

D. Disable role separation since LBAC supersedes anything role separation might provide and it interferes with LBAC. 

E. Create and install either general or user-specific sysdbopen() functions so that LBAC is active when users connect to
the instance. 

Correct Answer: ABC 

 

QUESTION 10

What does the dbschema -ss option explicitly show besides lock mode, fragmentation strategy, and dbspace name? 

A. pagesize 

B. extent size 

C. creation date 

D. partition partnum 

Correct Answer: B 

 

QUESTION 11

Which two storage objects exist in Informix? (Choose two.) 
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A. dbspace 

B. flash space 

C. smart rowspace 

D. smart blobspace 

E. encrypted space 

Correct Answer: AD 

 

QUESTION 12

Informix is currently in online mode. As a DataBase System Administrator (DBSA), you switch to administration mode
with ADMIN_USER_MODE_WITH_DBSA = 0. Who can access Informix databases? 

A. only Informix 

B. only a DBSA 

C. only Informix or a DBSA 

D. only root, Informix or a DBSA 

Correct Answer: C 

 

QUESTION 13

Which statement is used to create a permanent nonlogged table in a logged database? 

A. CREATE TABLE tab1 (col1 INTEGER, col2 INTEGER) 

B. CREATE RAW TABLE tab1 (col1 INTEGER , col2 INTEGER) 

C. CREATE STATIC TABLE tab1 (col1 INTEGER , col2 INTEGER) 

D. CREATE NONLOGGING TABLE tab1 (col1 INTEGER , col2 INTEGER) 

Correct Answer: B 

 

QUESTION 14

From the items listed below, what is the smallest granularity of item which may be restored? 

A. a single table 

B. a single dbspace 

C. an entire instance 
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D. a set of dbspaces 

Correct Answer: A 

 

QUESTION 15

Which two events can initiate a trigger on a table? (Choose two.) 

A. DROP 

B. ALTER 

C. INSERT 

D. SELECT 

E. TRUNCATE 

Correct Answer: CD 
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